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vuu1 unruveuer
Yuubtywlughtt wypwptlip , uyn pynd’
30197622 |faninpe c< thwpbp 2300 920000 400
30197647 |(3nup t< thwpbp 4400 88000 20
30197232 |fFnpwwwlwy (of S hwuwn 70 31500 450
39241210 |Uypwwn < hwuwn 350 3500 10
39241140 |"twuwy c< hwuwn 150 3000 20
24911400 [Unuhud < hwuwn 240 24000 100
24911400 [Unuhud c< hwuwn 180 18000 100
39263200 |Ypwubitjwlwihu ghpp (o hww 350 73500 210
30141200 |<wigyps UGS (o7 hwn 1400 7000 5
30141200 |<wayhs thnpp t< hwwn 1100 5500 5
30192137 |Uwuwnhwn ul t< wnuh 250 3750 15
30192121 |9phy t< hwwn 40 20000 500
30192128 |9nhs qbiny o4 hwwn 100 10000 100
22811180 [Opwwnbunp o< hwuwn 1200 12000 10
22811180 [Opwwnbinp o4 hwwn 1000 10000 10
30192220 |Uyns Ubd o< hwuwn 350 7000 20
30192220 |Uyns thnpp (of S hwuwn 50 5500 110
30192210 |UYyns enpeb hhdpny t< hwwn 400 8000 20
39263420 |Udpwl Jb& o< wnu 270 13500 50
39263410 [Udpwy thnpp (o] S wnuth 130 26000 200
39292530 |[Lwunu c< hwwn 120 1200 10
39292510 |Lwunu o< hwwn 60 600 10
30197231 [(Fnpwwwuwl dwy (of 4 wnntth 1800 54000 30
30197332 |Hwljhs UGS (o hwn 1100 5500 5
30197321 [Ywphs thnpp c< hwun 400 4000 10
30197322 |4wphs UGS o< hwn 900 13500 15
39263310 |Opwgnyg t< hwun 800 16000 20
30197233 |Fnpwwwluwl phtpny < hwn 70 3850 55




30197110 |[Uubin Ywphsh hwdwnp t< wnntth 150 7500 50
30197110 |[Uubin Ywphsh hwdwp lole wintth 80 4000 50
30192160 E:irjli]r:}/gﬁzjr?r:j RS it Gupri t< huun 200 9000 45
30192160 Eﬁ:f;‘gﬁ:ﬁj nwwagnywd nkipunp dwpnpbint y huitn 200 10000 o
30192100 |Mtwhu (of S hwuwn 50 2000 40
30192125 |Uwpytp c< hwn 180 5400 30
22851100 |Upwqwlwp $ninbp (of S hwuwn 100 5000 50
31000000 |Ejkdtuwn c< hwwn 100 5000 50
30192114 [(Gwuwp t< hwuwn 250 1250 5
22851500 |fdnpwwwluwy o< hwun 3000 15000 5
39263100 |Lpwlwqu o< hwn 2000 10000 5
39263530 |[Ubindwyw| utd o< hwn 50 5000 100
39263510 |Utindwyw| thnpp o< hwn 40 4000 100
22311100 [Pwghy < hwwn 300 30000 100
30197633 |f3ninp $wpuh o< hwn 600 1200 2
30197231 [fenpwuwwuwl uy (of S wnuh 1000 30000 30
30192133 [Uphs < hwn 30 750 25
30192111 [Cunwdwh pwpéhy o< hwn 300 1500 5
30197200 [fdnpwwwuwl ntghuwnp (of < hwuwn 800 80000 100
30199420 [f@ninp Upnwiubph hwdwp thnpp < hwwn 200 30000 150
30199420 |(Gninp Upnwiutiph hwdwp Jtd t< hwwn 250 15000 60
30192121 |9phy c< hwwn 100 25000 250
30197340 [Uwwlwphy (o7d hwwn 250 2500 10
30197122 |4ntqwl o< wnuh 300 4500 15
Cwdwluwpqyw)ht odwunwl uynipkp L
30000000 |uwppwynpnuiubp PLUL npwd 900000 900000 1
09132000 |PLughu (74 thwp 500 7260000 14520
09000000 |Ubndyws quq poUC fud 210 1638000 7800
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09211100 |Cwpdhsh jnin 15w40 o< L 1900 51300 27
34900000 |3ninh $hpinp o< hwuwn 2700 8100 3
34900000 |Onh $phpnp o< hwtn 10000 20000 2
34900000 |Uywinnnntip 235*70*R16 o< hwuwn 70000 280000 4
34900000 |Uuwnh$phq o< L 2300 13800 6
34900000 | tnwu pnuwly lole hwwn 18000 18000 1
34900000 |Upgbjwydwu pdpndy lole hwwn 40000 80000 2
34900000 |Ypwnhp wnoup/wpgbijwydwu/ t< Ynduy| 20000 20000 1
34900000 |YUpwnhp htwnlh /wpgbuwydwu/ lofe Ynduy| 16000 16000 1
09211400 |[Pnfuwugdwt wninwhh jnin (o4 L 2900 8700 3
34900000 |Uwwyp Jwgdwu hbnniy/funquuwyubiph hwdwp/ o< hwwn 1600 6400 4
09211100 |3ntn 10w40 o< L 3200 96000 30
34900000 |3ninh $hpinp o< hwwn 4000 12000 3
34900000 |Onh hpp o< hwtn 10000 30000 3
34900000 |Uuwnh$phq < L 2300 13800 6
34900000 |Pnl PK-2390 o< hwwn 21000 21000 1




34900000 |Upgbjwydwu htnnwy /0.455/ o< hwn 600 2400 4
34900000 |“wjntuwpwph Ywfung wnguh (o4 Ynduy| 65000 65000 1
34900000 |Ywntuwpwph Ywfung hbwnlh (of S Unduyy| 36000 36000 1
34900000 |Pnfuwugdwt wntthh $hnp c< hwwn 15000 15000 1
09211400 |Pnfuwugdwt wnnuhh jnin /mb236.10/ o< L 4000 32000 8
34900000 |Uywninnnn 255*55*R19 [old hwwn 95000 380000 4
34900000 |Udnpinhquwinp  wngluh o< Ynduy| 200000 400000 2
34900000 |Ypwnhp wnolh/wpgbjwldwu/ < Ynduy| 42000 42000 1
34900000 |Upwnhp hbnlp/wpgbwydwu/ (o Yndy 35000 35000 1
34900000 |Uwwyh Jwgdwu htnnwy/flunquuwyubph hwdwnp/ o hwwn 1600 6400 4
09211100 [3ntn 10w40 o< L 3000 66000 22
34900000 |3ntnh $hpinp o< hwwn 3600 14400 4
34900000 |Onh dppuinp o< hwwn 4200 8400 2
34900000 [Udwnnnnn 215*65*R14 o< Cwin 75000 300000 4
34900000 |$nl 6PK 2050 c< hwun 15000 15000 1
34900000 |Cwnwn nhh o< hwtn 14000 28000 2
34900000 |Cwnuwyny htitnlth o< hwun 12000 24000 2
34900000 |Ypwnhp wnolh/wpgbjwydwu/ < Yndy 26000 52000 2
34900000 [Ynwnhp htinlh/wpgbjwliwy/ t< ynduyg 21000 42000 2
34900000 |Ywjniuwpwph Ywiung (ofS hwun 5000 5000 1
34900000 |Uunh$phq o< L 2300 18400 8
34900000 |Onnpwlhsh $hnp o< hwn 7000 14000 2
34900000 |Cwndhsh gtuhyh ubpnhp o< hwn 20000 40000 2
34900000 |<bLwnlh quuutwy o< hwwn 23000 46000 2
34900000 |Udnpinhquunnp wnglup o< Ynduy| 76000 76000 1
34900000 |Udnpuinhquwnnp hbwnlh o< Ynduy| 61500 61500 1
34900000 |Uwwyh Jwgdwu htnnwy/flunquuwyubph hwdwnp/ oC hwun 1600 6400 4
39830000 |Ykugwnuht, mtnbuwyw wupwupubp rLUL npud 1000000 1000000 1
15000000 |<wupwjht utunh unyetp PCUL npwd 500000 500000 1
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09310000 |Eubpgbwnpl Swnwynipyniuubp PrLUL npwd 2700000 2700000 1
65000000 |Undntuw) swnwynipynitutp rLUL npud 120000 120000 1
64000000 [Ywuwh éwnwjnisyniuubp PCUL npwd 3000000 3000000 1
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60171000 [Ywpdwlw|nipniu /dwpnwwnwn/ me hwwn 2760000 | 2760000 1
60171000 |[Ydwpdwwnyeniu /dwpnwwnwp/ mp hwwn 3480000 3480000 1
75100000 |Qppbiph updwy Jupswlwy Swewynipyniaubp PrLUL npwd 200000 200000 1
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48000000 |{wdwlwpgswiht swnwynipyniututp/kapan.am/ PrLUL npwd 336000 336000 1
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50312000 |<wdwlwpghsubph wnbjuuwwuwpynud PCUL npwd 1000000 1000000 1
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71242000 |Lwhwgswhbnwgnunwlywy swiuubkp PLUL npwd 500000 500000 1
Uuu 3 ounusnre3nkuitr
50750000 |Uwutwghmwlw Swnwjnypniuubp PLUL npwd 100000 100000 1
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03121000 |(Ywpn t< hwuwn 800 412000 515
03121000 |Utfuwly ¢c< hwun 150 558000 3720
03121210 |Ownyt quudpnin, Yndwnghghw/dts/ < hwwn 10000 600000 60
03121210 [Ownyb qudpnun, Yndwnghghw/thnpp/ o< hwwn 5000 300000 60
03121000 [Cwnytwuwy < hwun 20000 500000 25
03121000 |ownytthniug/utid/ o< hwn 7000 630000 90




03121000 |ownybtthniug/thnpp/ < hwwn 5000 550000 110
18530000 |<wwnntly twywinwlwyht wy uynyebp/uytputn/ PLUL npwy 4180000 4180000 1
Uuu 3 ounusnkE3nkLLLEN
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98000000 |<wwnily twywinwluwyht uynyebp/nuqunubp/ PLUL npwd 1000000 1000000 1
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